Number System
-
It takes at least fiye bi

15
i

; 3 s to count f, A .:ﬁv” hi b
can count in decimal wigp, 5, bits, beginn::‘: \\(r,it:\“rill-r.t i e ;
Highest decima] Number = 7n _ 1 .
With 2 bits we can count a¢ !
20el w ¥l =
' 1 3 i.e., from 0 to 3.
With 4 bits,
4 = I = - -
2' 16-1 = 15 ie., from0to 15
With 6 bits,

-] = 64<] = 63

Collection of 4 bits is call

: ed a Nibble, Collecti its is called te. Therefore a byte
contains 2 nibble and byte is the basic unit pf o on of 8 bits is called a Byte

i.e., from 0 to 63

age in computer,
2.3. BINARY TO DECIMAL CONVE

A binary
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(@) 1001 and 0100
() 00010110 and 00010101
Solution :
(@) 1001
_+ 0100 jnvalid P
+ 1101 i
4 pCD mumber

Add 6 _ ot yali
0001 Ll : .

/ / 1

1 ] = (13)]0

1001
+ 1000 g

ST vl ES
b B0 Add 6

0001 1001
s

e

o 1 § = (18)10 ANS:
0001 0110

0001 0101

0010 1011

paacwrignt — SN
1ts and
il 0011 000l -~ Valid BCD number ,_

®
cause of carry

—_» Right four bits are invalid because
where as left four bits ae “:l\d

0110 "
0101




